
 

1. Simplify by combining like terms: 
a. 𝑥 + 𝑥 + 𝑥 + 𝑦 
b. 𝑢 − 𝑡 + 𝑢 − 𝑡 + 𝑢 
c. 3𝑥 − 2𝑥 + 𝑥 + 5 
d. −4𝑘 + 9 + 3𝑘 − 2 + 𝑘 − 2𝑘 

e. 5𝑟 − 𝑟ଶ + 3𝑟 − 𝑟ଶ + 5𝑡 − 6𝑟 
f. −𝑚𝑛ଶ − 4𝑚𝑛 + 5𝑚𝑛ଶ −𝑚𝑛 
g. 2𝑥𝑦 − 5𝑥𝑦𝑧 + 3 − 2 + 𝑥𝑦𝑧 
h. 2𝑥ଷ + 7 − 5𝑥ଶ − 𝑥ଷ + 6𝑥 +

3𝑥ଶ − 8 
2. Remove brackets and simplify: 

a. (3𝑘) + (−5𝑘) − (−12𝑘) +
(+6) − (+8) 

b. (3𝑎 − 2) + (5𝑎) 
c. (5𝑦 − 2) + (6𝑦 + 7) 
d. (−𝑥 + 12𝑧) + (7𝑥 − 8𝑧) 

e. (2𝑝𝑞) + (7𝑝𝑞 − 3)m 
f. (3𝑡ଶ + 3𝑡 − 6) + (−𝑡ଶ + 5𝑡) 
g. (𝑎 + 𝑏) + (𝑎 + 𝑏) + (𝑎 − 𝑏) 
h. (5𝑟ଶ − 3𝑟 + 9) + (−2𝑟ଶ −

𝑟ଶ + 3𝑟) 
3. Remove brackets and simplify: 

a. (3𝑘 + 5) − (8𝑘) 
b. (2𝑠 + 5) − (𝑠 − 7) 
c. (3𝑑 + 2) − (2𝑑 − 1) 
d. (13𝑚ଶ +𝑚) − (2𝑚ଶ) 

e. (2𝑥 − 4𝑦) − (−𝑥 + 2𝑦) 
f. (4𝑎ଶ − 7𝑎 + 3) + (9𝑎ଶ + 7𝑎) 
g. (2𝑎ଶ + 3𝑎𝑏 − 4𝑏ଶ) − (𝑎ଶ +

𝑎𝑏 − 𝑏ଶ) 
4. Multiply: 

a. 2𝑎ଶ × 𝑏 
b. (−𝑑)(3𝑒) 
c. (2𝑚)(𝑛) 
d. (4𝑑)(2𝑑) 
e. (5𝑛ଶ)(𝑛) 
f. (−5)(−8𝑤) 
g. (−𝑤)(−2𝑤ସ) 
h. (𝑥ଷ)(2𝑥) 
i. (2𝑐ଶ)(0) 
j. (4𝑥ଶ𝑦)(1) 
k. (3𝑦)(−3𝑦) 
l. (𝑥ଶ)(𝑥ଷ) 
m. (𝑥)(−𝑥) 
n. (𝑝ଶ)ଷ 
o. (5𝑟)ଶ 

p. (−2𝑘)ଷ 
q. (𝑡)(𝑡ଶ)(𝑡ଷ) 
r. (−𝑎ଶ)(𝑎𝑏) 
s. (2𝑥𝑦)(𝑥ଶ) 
t. (3𝑚𝑛ଵ)(−4𝑛ଶ) 
u. (−2𝑎𝑏ଶ)(5𝑏) 
v. (9𝑥ଶ𝑦)(3𝑥𝑦ଶ) 
w. (−4𝑟ଷ𝑠)(𝑟ଶ𝑠ଷ) 
x. (3𝑚)(2𝑛)(−4𝑝) 
y. (2𝑐ଶ)(3𝑐𝑑)(−𝑑ଷ) 
z. (−𝑟)(4𝑠)(−3𝑡ଶ) 
aa. (𝑥)(−4𝑥𝑦)(𝑦) 

  



 

5. Multiply + Simplify: 
a. −3(6𝑥 − 4) 
b. 5𝑎𝑏(6𝑎 − 𝑏) 
c. 5𝑎 − 3(2𝑎 − 1) 
d. 5𝑥(𝑥ଶ − 3𝑦 + 4) 
e. −9𝑝(4𝑝 − 7) 
f. 2𝑢ଶ𝑣(−𝑢ଷ + 𝑣ଶ) 
g. 2(𝑥 − 3𝑦) − 3(𝑥 + 𝑦) 

h. 3𝑎(𝑎 − 2𝑏) + 𝑏(3𝑎 − 𝑏) 
i. 3𝑎ଶ𝑏(3𝑎ଶ − 𝑏ଶ) 
j. 3𝑎(2𝑎 + 4𝑏 − 3) − 2𝑏(3𝑎 +

2𝑎𝑏) 
k. 3𝑑(2𝑑ଶ − 4𝑑 + 1) 
l. 𝑦ଷ(𝑦ସ − 𝑦ଶ) 
m. 3𝑥(2𝑥 − 5) − 2𝑥(3𝑥 + 5) 

6. Divide: 

a. ଵହ௥ାଶ଴௧

ହ
 

b. ସ௬మାହ௬

௬
 

c. ௠మିସ௠

௠
 

d. ିଷ଴௔య௕మ

଺௔௕
 

e. ଵ଴௤యି଺௤

ଶ௤
 

f. ଺௖మିଵ଼௖

଺௖
 

g. ଺௪మା଼௪ିଶ଴

ଶ
 

h. ଶସ௠య௡ିଵ଼௠మ௡

ଷ௡
 

i. ଷ଺ మ௕ାଵ଼௔௕మ

ଽ௔௕
 

j. ଵ଺௬ିସ

଼
 

k. ିହ௪మା௪

ଵ଴௪
 

l. ଼௧యିଵଶ௧మାଶ଴௧

ଵ଼௧
 

7. Multiply + Simplify 
a. (𝑛 + 3)(𝑛 + 8) 
b. (𝑎 + 4)(𝑎 − 5) 
c. (𝑏 − 3)(𝑏 + 7) 
d. (𝑥 − 5)(𝑥 − 3) 
e. (𝑎 + 𝑏)(𝑐 + 𝑑) 
f. (−4 − 𝑝)(𝑝 − 7) 
g. (𝑥 + 2)ଶ 
h. (𝑦 − 3)ଶ 
i. (𝑎 + 𝑏)ଶ 
j. (3 − 𝑟)ଶ 
k. (2𝑟 + 1)(𝑟 − 1) 
l. (3𝑥 + 2)(2𝑥 + 5) 
m. (4 − 2𝑑)(3 + 3𝑑) 
n. (2𝑚 + 𝑛)(𝑚ଶ + 𝑛ଶ) 
o. (2𝑥 + 3)ଶ 
p. (2𝑎 + 5𝑏)ଶ 
q. (𝑥 + 7)(𝑥 − 7) 
r. (2𝑚 + 1)(2𝑚 − 1) 
s. (𝑎 + 𝑏)(𝑎 − 𝑏) 
t. (9 − 2𝑤)(9 − 2𝑤) 


